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LE\a#R(1-2TK)

DEEIEN) RF &2 & SxcHe | WRE | NREEmM2)
1 XREEER = REIET 1N 249% Mg Mg 238
2 XREEER = REIET 1N 265% i i 2,176
3 SREEER = REIET 1N 286%F Ei i 549.72
4 SREEER = REIET 1N 293%F1 | AKFLER | AKFER 178
5 SREEERE= REIET 1N 303#&1 Lk ik 2,365
6 SREEERE= REIET 1N 334% H 5 1,020
7 SREEERE= REIET 1N 339%F2 | AEKE | AEKE 26
8 SREEER = REIET 1N 446% [REF JREF 493
9 WEERERET | NRT R 26% H 5 1,877
10 | EE=MET | DRIk e T24% MitEh HMEREIH 798
11 WEEREET | NRTR R 805% i i 2,368
12 | EEEEET | DRIk e 838% [REF JREF 2,936
13 | XEEEEET | DRIk A 856% UNES FUbE] 290
14 | XEEEEET | DRIk PSE) 858% LAk Ak 2,856
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